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N.B.: (1) Question no 1 is compulsory
'(2') Solve any three questions from remaining five questions,
(3) Right figure indicate marks.
(4) Figures to the right indicate full marks.

1.Attempt thf: fullowing g
(a) Derive the frequency domain aquw&lent for inductor with initial current b

and capacitor with initial voltage V Ao
(b) Write the equations for'V. and V, for circuits shown in fi gure (d) e (b)

&1 function,

the given circuit.
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4. (a) Explain duality in a network

(b) Find the condition of reciprocity in case of short circuit pé ﬁ' 3
(¢) The switch is opened at time t=0. Determine the voltagew(g) 'ort™ 0 using Laplace
transform in the given network. (A5 10
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6. (a) The currentI (s) in a network is given by I(s) = —— ST N
4 (s)ina given by lig) = o= £1)(s+2) Plotthepolezero 8

~ patterh in s plane and obtain i(t)
(b) Find V_ in the network shown
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